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                                        2nd Semester Syllabus 

 

English A & B                                                                                                                                                                            

Class:7  

Lesson no 11: The Scholars and the lion                                                                    

Dictation words: Scattered, Trudging, Declared, Proudly, Plead,  

Triumph        

W|S: Count, Popular, Sell, Tunnel, Guards, Escape                       

W|M: Declared| Announced, Treasure| Wealth, Weariness|  

Tiring, Humble| Modest, Tremendous| Great, Scholar| A learned  

Person, Switched| Moved 

Lesson no 12: The count of Monte Cristo                           

Dictation words:   Desperate, Edge, Supposed, Great time, Draw, Dim 

W|S: Bold, Weight, Governor, Footsteps, Loudly, Fearful. W|M: Hair 

stood on_ Became afraid, His blood ran cold_ He was afraid, Closed_ 

Covered, Bottom_ Below,                                                                             

Lesson no 13: King Solomon’s mines (The battle) Dictation words: 

Adventure, Glittering, Despair, Sprang, Mass, Calm, Rolled down. W|S: 

Moment, Swallowed, Rushed, Mere, Gigantic. W|M: Advance_ Move 

forward, Paused_ Hesitated, Eagerness_ Keenness, Perfectly_ 

Completely, Rejoiced_ Was very good, Struggle_ Great effort, 

Preparing_ At once, Immediately_ Making ready, Force_ Strength.  

             

                                                             

Lesson no 14: Little women secrets                



Dic| words:                                            

Exclaiming, Sign, Merry, Sympathy, Pleasant, and Author.                               

W|M: Bad time_ in pain, Puzzled_ disturbed, Rival_ Two equal, Fast_ 

Swift, Behaviour_ Treatment.                                                                          

W|S: Slight, Author, Followed, Bottom, Exciting.      

                                   

Lesson no 15: Building a house                    

Dic words: Bull dozers, Certain, Architect, Plasterers, and Electrician.                                                                                                                       

W|M: Erectors_  Scaffold, Trade_ Business, Straining_ Putting stress, 

Drawn_ Prepared, Agreed _ Liked                                                          

W|S: Pouring, Concrete, Solicitor, Contract, Plumber                                                

                                                                                                                                        

Lesson no 16: Tom Brown’s Schooldays ( The Match)                                       
Dic words: Rugby, Quarter, Trousers, Awfully, Advancing                                            

W|M: Over_ Finished, Move up_ Run up, Breath knocked out_ 

Breathless, Pick up_ Raise, Get up_ Rise up                                         

W|S: Dozen, Quarter, Prefect, Trousers, Pleasure.                                                  

                             

Lesson no 17: Insects and disease                   

Dic words: Harmful, Scientists, Patience, Advantage, Necessary.                                                                                                                  

W|M: Prevent_ Stop, Distant_ Far, Cause_ Reason, Appear_ Seems, 

Suppose_ Just think.                                                                                        

W|S: Various, Behave, Magic, Carry, Several.                                                    

                          

Lesson no 18: Sea Serpents                                                                            

Dic words: Dreadful, Angrily, Companions, Exaggerate, Baltimore                                                                                   

W|M: Serpent_ Snake, Reliable_ Trustworthy, Exaggerate_ Tell more 

than what happened, Reared_ Went backward or turned, Zoologist_ A 

person who studies the habit and behavior of animals.                                                                                                                        

W|S: In great deal, In the hope of, In all parts of the world, In diameter, 



On either side of.                                                                                                        

                                                 

Lesson no 19: The story of Shakespeare’s plays ( The merchant 

of Venice)                                                                                                
Dic words: Expenses, Miser, Money lender, Agreed, Amused.                     

W|M: Willing_ Agree, Ducats_ Gold piece, Offer_ Presentation, 

Cargoes_ Goods , Generous_ Open hearted                                                      

W|S: Scorn, Refuse, Interest, Afford, Kind offer                                                        

                     

Lesson no 20: Strange tales( The smugglers revenge)                           
Dic words: Succeeding, Creeping, Depth, Terrible, Cruel                              

W|M: Whole_ Complete, Quarrel_ Fight, Fault_ Crimes, Capture_ 

Arrest, Wondering_ Surprising.                                                                              

W|S: Revenge, Tighten, Fainted, Cliff, Shallow.                                                               

                              

Lesson no 21: Man sends a message (The electric telegraph)                                                                                                     
Dic words: Telegram, Underneath, Received, Nearest, Morse code.                                                                                                              

W|M: At rest_ not pressed or not working, Prevent_ Check, Method_ 

Way, Movement_ Motion, and Underneath_ Below.                                            

W|S: Invented, Network, Flashed, Protected, Tapping                        

                            

Lesson no 22: Stories of Malaysian adventure (Jungle journey)                                                                                                           
Dictation words: Plunged, Furry, Sobbing, Bury flesh, Shallow.                                                                                    

W|M: Gaily_ Happily, Hive_ the house of bees, Leaping_ Jumping, 

Struggling_ Trying, Patch_ piece.                                                                                                                                                                                             

W|S: Waded, Yelling, Swarm, Panting, Take to.                                                                     

                               

Lesson no 23: Men, Medicine and Machines. (The wizard Menlo 

Park)                                                                               



Dic words: Promptly, Gramophone, Tinfoil, Platinum, Vacuum.                                                                   

W|M: Produced_ Made, Sucked_ Taken, Cellar_ Room, Amazement_ 
Surprise, Platinum_ A precious metal.                                                                 

W|S: Invention, Conversation, Promptly, Clumsy, Improve.                                                       

                            

Lesson no 24: The first man to fly                                                                 
Dic words: Vanished, Inflammable, Galloping, Fastened, and Cannon.                       

W|M: Procession_ People, Scorched_ Burnt, Straw_ Hay, Galloping_ 

Horses running, Inflate_ Fill air.                                                                             

W|S: Devil, Drifted, Lifted, Feat, Fabric.                                                                

                                                                                                           

Lesson no 25: Lightning                                

Dic words: Thunder, Possess, Formation, Burst, and Develop.                                  

W|M: Saturated_ completely filled with, Crackling_ Little noise of 

cracking, Develop_ Prepare, Pressed_ Stressed, Containing_ Having.                                                                                                                                       

W|S: Brightly, Moisture, Rubbing, Lightning, Beneath.                                                          

                                                                   

Lesson no 26: Fire in the forest (Rescue)                        
Dic words: Approaching, Blazed, Propeller, Roaring, and Distant.                              

W|M: Slight_ Scene, Unearthly_ Uncommon or Extraordinary,                                          

Hesitated_ Stopped for a moment, Propeller_ Great wings, Hovering_ 

Flying continuously over.                                                                                                    

W|S: Blazed, Motionless, Reflected, Glow, Approaching.                                                           

                                                                                                              

Lesson no 27: The elephants of Sargabal (The ghost’s mountain)                 

Dic words: Leapt, Cunning, Saddle, Straw, Various.                                                 

W|M: Pattern_ Design, Patel _ Native, Anxious_ Restless, Admit_ 

Accept, Saddle_ A piece of seat on hose back.                                  

W|S: Gallop, Dragged, Beasts, Pattern, Tour.                                                                     

                          



Answers these questions.                                                                                      

Ch no 11: The scholars and the lion                                                               

Pg no 61 part no B (Answer these following questions)                                  

Q1. “The learning we have………….. Begin with h”.                                                          

Ans. This shows that the three scholars were scornful of their learning. 

The word used for fourth friend is humble.                                                              

Q2.What did ………….. Learning?                                                                                     

Ans. The scholars hoped to obtain wealth with their learning.                                                                                               

Q3. Explain in your ………… with them.                                                                                       

Ans. The first and second scholar thought that they both were learned 

persons as compared to fourth one so he should not be allowed to 

attain the fruit of their wisdom.                                                                   

Q4. Why did…………. Come?                                                                                                    

Ans. They finally decided to let him come because he was after all their 

friend.                                                                                                                                          

Q5.Why did………….. Life?                                                                                               

Ans. The scholars decided to bring the lion back to life because they 

wanted to test their learning.                                                                                    

Q6. What was……….. Made?                                                                                            

Ans. The big mistake they made was that they did realize that the lion 

would attack them when they would bring it back to life.                                   

                                                                                                                            

Q7. What lesson………. This story?                                                                                             

Ans. The lesson we have learnt from this story is that common                                 

sense is more important than knowledge.                                                                               

Book work (P g no 62 part C)                                                                                            

1.The player has colored shirt                                                                             

2. My friend does not like swimming.                                                                 

3. My teacher has book to mark                                                                          

4. The snake is green                                                                                                               



5. The duster is for cleaning the blackboard                                                            

6. The man does not work in the afternoon                                                                    

7. The girl has smart uniform                                                                                          

8. I have a new teacher.                                                                                                  

9. I do English everyday                                                                                                    

10. The workman has a lorry.                                                                                         

                         

Part D (Page no 63)                                                                                                    

Complete these sentences by adding simple present tense.                          

1. Come 2. Work   3. End 4. Tell 5. Acts                                                              

Part A (Read spellings rule no 6) add all to the beginnings of                          

these words.                                                                                                                         

1. Altogether, 2. Almost, 3. Always, 4. Although, 5. Already,                             

6.Also, 7. Almighty.                                                                                                       

                                                                                                                         

Note: Do part B and C by yourself                                                                                    

                               

Lesson no 12 (Pg no 67) Answer these questions                                                 

Part B                                                                                                                          

Q1. Why was…………. Eyes dim?                                                                             

Ans. The light which reached Dante’s eyes was dim because he was 

lying in a sack.                                                                                                       

Q2. How many………. Dante’s?                                                                                        

Ans. Two men came to fetch Dante’s.                                                                             

Q3.What might have ……………… Farias body?                                                                                                                                          

Ans. Farias was a weak and thin person whereas the sack was too 

heavy. This might have warned the men that they were not   carrying 

Farias body.                                                                                                                

Q4. What was the ………….. Dante’s?                                                                                          

Ans. Talk between the guards puzzled Dante’s.                                                   



Book Work: Page no68 Part B: Replace the verbs in italics with the 

Present Continuous Tense: 1) I am meeting him tomorrow.    2). we are 

having some friends in for tea. 3). we are playing against the High 

School next week. 4). they are arriving on the five o’clock train. 5). we 

are spending the holidays in Abbottabad. 6). Where are you going? 7). I 

am going home. 8). we are having a new teacher soon. 9).What are you 

doing tomorrow? 10). what are you taking with you? 10). Where are 

you going tomorrow?   MCQS: 1) This is a story of ------------ sailor 

Dante’s. (German, Spanish, FRENCH) 2) Dante’s was a ---------- man. 

(Timid, BRAVE, Bold) 3).Dante’s was imprisoned in the ------------ (CELL, 

Room, and Battery). 4) Dante’s changed his body with ---------- 

(Prisoner, Police, and FARIA). 5) Dante’s was thrown into the ---------- 

(SEA, River, and Lake).         

                                                                                

Lesson no 13: King Solomon’s mines                                                                       
P g no 73 part B (Answer these Questions)                                                       

Q1. Explain how………… army.                                                                                

Ans. Narrowness of the valley helped Ignosi’s army in such a way that 

only a few member of enemy soldiers could enter in it at onetime and 

they could defeat them, getting a minimum loss of themselves.                                                                                                                                                   

Q2. Look up …….. Answer.                                                                                                     

Ans. The Greys had better discipline. They made groups of their                                         

army and fought in a wise way. Their friends attacked the enemy                  

from the sides that made them to help their friends in need.                                      

Q3. In the second…………. They?                                                                                                   

Ans.  The second attack was a hard one because sound of meeting 

shields came to our ears like thunder.                                        

Q4. Look up……… conspicuous?                                                                                

Ans. Conspicuous means distinguished: separate from others. Sir                          



Henry’s yellow long hair and beard moving in the air made him look 

conspicuous.                                                        

Q5. How does……….. First?                                                                                                        

Ans. These sentences show that the second attack was worse                                  

than the first one                                                                                                                    

a) Again came the dreadful thunder of meeting shields.                                     

b) This time the struggle was longer                                                      

c) We thought that the Grey’s were done for                                                                        

d) Of the Grey’s, less than a quarter remained                                                                 

Q6. Several times………. Why?                                                                                            

Ans. This is a good comparison because the soldiers advance in                             

the way waves advance. The soldiers also move their weapons                          

and shields while advancing just as the waves throw up drops of                        

water while advancing.                                                                                                 

                             

Lesson no 14: Little Women                                                                                

answer these questions on p g no 80.                                                                             

Q1. In what season………….place?                                                                                  

Ans. This part takes place in winter season.                                                                    

Q2. ‘She signed……….. Jo?                                                                                             

Ans. ‘She signed her name firmly’ it tells us that Jo was very                                     

happy.                                                                                                                                  

Q3. After checking………. Thinking?                                                                           

Ans. She was thinking that if the story was not suitable, then she                       

would have to wait for a long time.                                                                           

 Q4. How many………. Stairs?                                                                                             

 Ans. Jo reached the foot of stairs three times.                                                                          

 Q5. Why did………… time?                                                                                              

 Ans. She did not go up the stairs the first time because she                                  

 hesitated if she should give story to the editor or not.                                                     



 Q6. Where did ……… gone?                                                                                          

 Ans. Laurie thought she had gone to the dentist.                                                   

             

 Lesson no 15: Building a house                                                            
 Answer these questions on p g no 85 part C                                                      

 Q1. What is ………….. Plan?                                                                           

 Ans. Map is a drawing of a part of Earth’s surface while map is a  

 diagram of building a house. Map is drawn in inches\ miles while  

 map is drawn in inches\ feet.                                                                                      

 Q2. Explain the meaning of scale.                                                                                          

 Ans. Scale tells us what length a line is on the map for showing a                       

 certain distance on the ground.                                                                                                

 Q3. What does a solicitor do?                                                                                    

 Ans. Solicitor prepares legal documents for buying and selling a                         

 piece of land.                                                                                                              

 Q4. What does an architect do?                                                                 

 Ans. An architect makes design\ maps\ buildings plans of                             

 buildings.                                                                      

 Q5. What is the difference between a plan and an elevation?                           

 Ans. A plan is a view of the building while elevation is of two                          

 types: Front elevation and side elevation. Front elevation shows                           

 the view of the house from the front whereas side elevation                               

 shows the view of the house from the side.                                                                        

 Q6. Look up……………. Does.                                                                                              

 Ans. A quantity surveyor tells the actual quantity of all the                                   

 materials wanted for building a house according to the building                           

 plan, 

 



Lesson no 16: Tom Brown’s schooldays (The match)                                                              
answer these questions on p g no 90 part B                    

Q1. Explain in your words what a roll_ call is?                                                   

Ans. Roll call means calling the names of all the students for                         

attendance.                                                                                                              

Q2. What is a Chapel?                                                                                             

Ans. Chapel is a small church built inside a building.                               

Q3. What used to happen behind the Chapel?                                        

Ans. Students used to fight behind the Chapel.                                                

Q4. Why was Tom curious about East’s white trousers?                               

Ans. Tom was curious about East’s white trousers because in 

November nobody wore white trousers on other days.                                                 

Q5. Why was East proud of playing in the match?                                                    

Ans. East was proud of playing in the match because Brooke,                                         

the captain of School house team, had allowed him to play                            

in spite of the boy of lower school                                                                                                                                  

MCQ’S.                                                                                                                                        

1). ___ was admitted to a new school                                                                      

a) Robert     b) William      c) BROWN                                                                                                                                                                                                                              

2) East showed him the school ___                                                                   

a) CHAPEL    b) Hall    c) Canteen                                                                                            

3) ____ was the captain of the school house team                                          

a) East           b) BROOKE    c) Brown                                                                       

                                       

Lesson no 17: Insects and Diseases                                  

True and False on p g no 95                                                                                       

1) True, 2) True, 3) Untrue, 4) Untrue, 5) True, 6) True, 7) Untrue 

8) True, 9) Untrue, 10) Untrue, 11) True, 12) True.                                                                                                                  

P g no 92 Abbreviations:                                  

Pound, Hour, Quarter, Yard, Kilogram, Hours, Inch, Centimeter, 



Meter, Foot, Doctor, Yards.                                                          

Answer these questions.                      

What is the common thinking of people about science?                           

Ans. Many people think that only scientists read science and use it 

in their work.                                                                                                      

Do we use scientific methods in our daily life?                                            

Ans. Yes, every common man use scientific methods in his 

common day to day life.                                                      

Which example does the writer illustrate in order to make his 

statement right?                                                                              

Ans. In this lesson the writer has given the example of a bicycle 

with burst tyres.                                                                                                      

Q4. Which disease was spread in old times?                                                  

Ans. Malaria was a disease spread in old times.                          

Q5. What were the causes of its spread?                                                       

Ans. Malaria was spread due to bad air and mosquitoes.                           

                           

Lesson no 18: Sea Serpents                               

answer these questions.                           

On p g no 101 part C                                                                  

Q1. Why can ……………….. Serpents?                                              

Ans. We cannot be sure that sea serpents exist because neither 

we have got a photograph of one of them nor we have got one 

dead or living. We have also not got bones on any one.                                                                                          

Q2.Explain in…………… sea serpents.                                                                    

Ans. We cannot be sure that people are always speaking truth 

when they say they have seen sea serpents because a person can 

also be mistaken.                                                                                                       

Q3. A minister…………….. 1808?                                                                                 

Ans. In 1808, a minister saw one when he went out with some 



companions in a small boat close to the west coast of Scotland.                                                                                                   

Q4. ‘Some people……….. Lies?                                                                                  

Ans. It does not tell that people was telling lies. It tells that people 

were mistaken.                                                                                                          

Q5. Why did…………… serpent?                                                                              

Ans. The captain of Daedalus did not follow the sea serpent                      

because he was a soldier and could not go on another day without                      

permission.                                                                                                                    

MCQ’S.                                                                   

1). in 1808 a minister claimed to have seen sea serpent near:                     

a) America         b) SCOTLAND         c) Daedalus                                                    

2). In 1848 the captain of warship Daedalus saw a sea serpent 

near:                                                                                                             

a) New York        b) Brazil                  c) AFRICA                                                                

3) The students of Zoology saw sea serpents near Brazil in:                         

a) 1905                b) 1906                   c) 1907                                                        

4) Captain Davidson saw one fighting with a whale on the board of           

a) KIUSHIU MARU     b) Africa            c) Baltimore                                                                                                     

5) In ____ a driver claimed to have seen in the great depths of  

Pacific ocean                                                                              

a) 1950           b) 1935           c) 1953           

                                                     

Lesson no 19: The stories of Shakespeare’s plays                    

Answer these questions on p g no 107 part B                                                    

Q1. The first……………. They?                                                                                             

Ans. Six things about Bassanio told in first paragraph are:                                                         

a) He was a noble man b) He was a friend of Antonio c) He was 

poor d) He spent more than he could afford e) He lived in Venice 

f) He used to borrow money from Antonio.                    

Q2. What do…………… paragraph?                                                                                 



Ans. He was a rich, generous and kind hearted trader of Venice, 

Italy.                                                                                                                                       

Q3. Explain in………….. Money.                         

Ans. Bassano needed money because he wanted to give expensive 

gifts to Portia, a young lady whom he loved.                                   

Q4. Although Antonio………………. Not?                                                            

Ans. Antonio was rich but he could not lend Bassano the money 

because all his money was lying in the ship in seas of Cargoes.                                                                                                

Q5. Why was……………. Answer.                                                                           

Ans. Shylock was disliked because he was a wicked fellow. He 

treated the poor cruelly. He charged a higher rate of interest for 

them. He also disliked Antonio because of his generous nature.                                                                                 

MCQ’S                   

1) ___ was a generous man.                                                                                            

a) ANTONIO         b) Bassano        c) Shylock                                                                       

2) ____ was a wicked fellow.               

a) Bassano          b) SHYLOCK         c) Portia                                                                                                                                                       

3) Antonio asked for a loan of ____ ducats.                                                

a) 3000                 b) 4000               c) 7000                                                                                                                                                                                                                                                                                                                                                                                             

4) Shylock was____                          

a) Kind hearted    b) Wise               c) MISER                      

5) Shylock refused to lend money to____                                                                        

a) Bassano          b) Portia               c) ANTONIO            

                                             

Lesson no 20: Strange tales                                                                           

Answer these questions on pg. no 112                                                                          

Q1. Explain what……….. Grave’.                                                                         

Ans. The story teller means by “my wide- open grave” that                                        

he would fall down on the ground and die surely.                                                

Q2. Look up……………. Blindfolded?                                                                     



Ans. “These are many other scenes of early life before my              

covered eyes”…… in this sentence the italicized phrase             

means he was blindfolded.                                                                                                              

Q3. Why did he laugh?                   

Ans. He laughed because he remembered his son’s childish face 

and wondering eyes very close to him.                                                                  

Q4. Why did his laugh make no sound?                                                             

Ans. His laugh did not make any sound because his mouth was 

tightly closed.                                                                                                                                         

Q5. Explain what………. Wife.                                                                                                

Ans.” The suffering and the want” that were waiting for his wife 

were hunger and poverty and death of Harvey.                                                       

Fill in the blanks.                                                                                                          

1. Harvey was a ___ officer. (Custom)                                                                                       

2. The ___ got hold of Harvey. (Smugglers)                                                                                               

3. They___ to kill him. (Intended)                                                                                                                                    

4. They punished him in a___ way. (Strange)                                                                     

5. Harvey was___ if he would fall down. (Afraid)    

                                                                                  

Lesson no 21: Man sends a message                             

answer these questions on pg. no 118 part A.                                                   

Q1. Which do……….. Passage?                                                                                                   

Ans. We think the most important sentence in this passage is this: 

“The electric telegraph, which was invented in 1835, just after the 

first railway was built, made it possible for us to send a message 

quickly over a long distance without a message”.                                                  

                                                                                                              

Q2.Do you………. Important?                                                                                                  

Ans. Yes, it is important.                                                                                                      

Q3. Give the………….. Sentence.                                                                                          



Ans. The electric telegraph is a good way of sending message 

because it is easy, it is quick and it is economic.                                                 

Q4. Why do………… copper?                                                                                   

Ans. Telegraph wires are made of copper because copper is a 

good medium for electricity.                                                                                                  

Q5. Explain the…….. Telegraph.                                                                                       

Ans. A dot is a smaller time and dash longer time of sending                                     

electric current passes.                      

Fill in the blanks.                        

1. Electricity passes through wires___ (swiftly)                                                   

2. ___ invented telegraph in 1835. (Thomas Edison)                                           

3. The signals are called the___ (Morse code)                                                    

4. The first cable was laid between ___ and France in 1850. 

(England)                                                                                                            

5. In 1866, cable was laid between___ and England. (America)                                          

            

                                                                                                          

Lesson no 22: Stories of Malaysian adventure                 
answer these questions on pg no 125 part B                                                                        

Q1. Who was……. Seen?                                                                                                    

Ans. Akob was nearest to the bees when they were first seen.                                                    

                                                                                                             

Q2. Everyone knows………… were?                                                                                                    

Ans.  The writer did not notice the bees because they were in the 

shape of a swarm, a cloud or a flying carpet.                              

Q3.Who was the ………….to do so?                             

Ans .Akob was first to realize the danger and the other members 

of the party were the last to do so.                                                               

Q4.The author……..he have used it?                            

Ans. When all of them reached the river writer heard the saying, 



“Take to the water”. He could have used   “Every one for himself                                                                 

Q5. What was his greatest fear?                  

Ans. His greatest fear was to be killed to death.                  

Q6. Why did he take off his belt?                     

Ans .He took off his belt because he had money, tobacco, 

compass etc.                                                                     

Q7. Jumping in to a stream ……..this was so?                                  

Ans. Jumping in water was also dangerous because he could not 

stay in water and when he came up, bees came to sting hi                                                                           

Q8.The writer…….ridiculous .Why?                            

Ans .Both ideas were ridiculous because jumping in to water (not 

very swallow) and being stung by bees could not take the life of a 

man                                                                                                            

Q9. Explain why ……..such a good one was.                   

Ans. Saleh’s idea was a good one because the bees could start 

stinging on branches and would leave the writer and his 

companion                                                                                                

Page no:127 (useful words and phrase Add have and had to these  

1)have.2)had.3)have.4)have.5)have.6)had.7)have.8)have                                                                                                      

Lesson No:23     MEN , MEDICINE AND MACHINES .                         

True and false:                                                                                     

Page no: 130                                                                     

1) untrue. 2)untrue.3)untrue.4) true.5 a) untrue b)true c)untrue 

d)true .6) true. 7) True .8) untrue.                                            

Question Answers: Page no 130.                       

Q1. What happens…………… wire?                                                                                    

Ans. When an electric current is passed through these wires it 

glows.                                                                                                                               

Q2. What happens……….. Vacuum?                                                                         

Ans. When the wire is sealed in a vacuum it glows more brightly.                                                                                                                       



Q3. Why was…………. Wire?                                                                                  

Ans. Edison was not satisfied with platinum wire because it was a 

very costly metal and common persons could not buy such bulbs.                                                                                                                         

Q4. Why was……….. Thread?                                                                                   

Ans. He was not satisfied with cotton thread because it was not 

strong enough to last for sometimes.                                                     

Q5. Do you…………. Expensive?                                                                             

Ans. Tungsten wire is cheap.        

                                     

Lesson no 24: The first man to fly                

True or False.                                                                                             

1. Untrue, 2. Untrue, 3. True, 4. Untrue, 5. True, 6. True, 7. True, 

8. Untrue, 9. True, 10. Untrue.                                                                   

Fill in the blanks.                                                                                                     

1. Stephen and Joseph Montgolfier were___. (Papermakers)                  

2. It rose to a height of___ feet. (6000)                                                        

3. People all over___ began to talk about flying. (France)                      

4. The balloon slowly came down as the air inside it. (Cooled)                                                                                                      

5. ___ catches fire easily. (Hydrogen)                                                                 

                            

Lesson no 25: Lightning.                                                                                                    

True or False.                                                                                                            

1. True, 2. Untrue, 3. Untrue, 4. Untrue, 5. Untrue, 6. Untrue, 7. 

True, 8. Untrue.                                                                                             

Fill in the blanks.                                                                                               

1. If electricity is clouds passes from negative to positive side,___ 

is produced. (Lightning)                                                                             

2. Electricity is of two kinds, positive electricity and____ (negative 

electricity)                                                                                                         

3. The drops of water break___ giving birth to electricity. 



(Forcefully)                                                                                                              

4. In some way Clouds are completely filled with___. (Electricity)                                           

5. _____ cannot be seen. (Electricity)                                                                                          

                           

Lesson no 26: Fire in the forest.                                                                        
Answer these questions on pg. no 148 part C                                                                                     

Q1. Why was…….. Rest?                                                                                                 

Ans. It was difficult for them to lie and rest because of the fast 

approaching fires.                                                                                  

Q2. Why did……….. Them?                                                                                

Ans. Henry thought that aero plane cannot help them because it 

needs run for going up and down. It can also not stay in air even 

for a second without flying.                                                                  

Q3. Why was……….. Night?                                                                              

Ans. Rescue party was unable to reach them at that night because 

of the ring of fires in the jungle.                                                                         

Q4. Why could……… only?                                                                               

Ans. Helicopter could take one person only because it had a small 

room.                                                                                                                  

Q5. Why did……… betty?                                                                                    

Ans. Mr. Ali chose Betty because she was the youngest and the 

youngest should have the chance to live longer than others in the 

world.                                                                                                       

Q6. Why do……… hesitated?                                                                          

Ans. She might have hesitated because of her other friends that 

were left on the ground among the burning jungle- trees.                                                                                                                   

Book Work on pg. no 149 part a                                                                   

1. I, Her    2. We, They   3. She, Him   4. Me   5. I    6. Me   7. Him   

8. I, He   9. Them 10. Me                                                                                                                                         

Part B.                                                                                                                                 



1. He, 2. We, 3. Us, 4. They, 5. We                                                                                   

Add to these sentences) 1) a little 2) a little 3) a little 4) a little 5) a 

little 6) a little 7) a little 8) a few 9) a few 10) a little.                                  

Page no: 143 (Change in to Passive)                        

1) He was watched 2) I am told. 3) He is being followed .4) they 

have been stopped .5) we were being tasted.6) She had been 

pushed.7) I shall be asked. 8) They will have been caught.9) they 

had been moved.10) we are being helped.                                       

Part B (Page no :143) Change in to Passive                           

1) She is often praised by people. 2) The red door was painted by 

someone. 3) He was seen doing it by someone. 4) He was laughed 

by them. 5) The book had been taken from the library by 

someone. 6) He had been warned many times by them. 7) The old 

house was pulled down by them. 8) Traffic rules should be obeyed 

by people. 9) The school is cleaned every day by someone. 10) 

The doors have been locked by someone.     

                 LESSON NO: 27        

             THE ELEPHANTS OF SARGABAL (The Ghosts Mountain) 

Answer these questions on pg. no 156 part B                                                                  

Q1. Why was…………. Mountain?                                                                                

Ans. everybody was frightened of the Ghost’s mountain because 

there was a story that evil spirits lived there.                                         

Q2. Who first………… top?                                                                                                                                                          

Ans. Itao  first built the home on the mountain top.                                                                                             

Q3. Why did…………… danger?                                                                                       

Ans. He thought that because Ajmil had gone to town and 

returned from there, and somebody might have followed him to 

the mountain top.                                                                                             

Q4. Why did……….. Tree?                                                                                         

Ans. Ajmil climbed up the tree to have a look if there was a herd 



of elephants on the march towards Pindi.                                          

Q5. How did………. Town?                                                                                               

Ans. Ajmil travelled to town on his elephant.                                                       

Q6. How did………. Town?                                                                                

Ans. Ajmil travelled back from town on a black horse.                                                   

Lesson no 28: The murder of Roger Ackroyd                                            

Answer these questions.                                                                                   

Q1. Why was………… died?                                                                             

Ans. The writer was sent for when Mrs. Ferraris died because he 

was a doctor. He was to do the medical checkup of the dead body.                                                                                                             

Q2. Try to………….. Hall?                                                                                  

Ans. Dr. Sheppard delayed a few moments in the hall to make up 

some excuse of his being called at the house of Mrs. Ferrars. He 

did want to tell Caroline all about Mrs. Ferrars.                                                                                           

Q3. Why did……….. Husband?                                                                             

Ans. Caroline thought that Mrs. Ferrars had poisoned her husband 

because the symptoms of his death were similar to poisoning. She 

also remained worried after his death and Caroline thought she 

was worried due to her crime.                                      Q4. How 

did…………. Information?                                                                                

Ans. Caroline got her information from the maidservant, milkman 

and other servants of the house.                                                                                                           

Q5. Explain in………….. Died.                                                                                          

Ans. In Caroline’s opinion, Mrs. Ferrars was upset and worried due 

to her crime of killing her husband. She lost her peace of mind. As 

a result of all this, she committed suicide.                                                                     

Q6. Why did………wrong?                                                                                                        

Ans. Dr. Sheppard told Caroline that she was wrong because he 

did not like the idea of Caroline’s going outside and telling 

everybody that she had committed suicide. He also thought that 



people would think that this was the idea of himself.                                               

Lesson no 29: Look at zoos                       

Answer these questions on p g no 168 part C.                                                                                   

Q1. What does… science?                                                                                

Ans. ‘ At close quarters’ means ‘ very near’ and ‘ in the wild’ 

means ‘ in the forest’.                                                                                               

Q2. Explain in………………. animals.                                                                         

Ans. The advantage of a zoo for watching animals are: 1) We can 

see animals from near.  2) We can observe their habits. 3) We can 

see them behave in a natural way.                                                                                              

Q3. Explain why……… year.                                                                  

Ans. One should visit a zoo at different times of year because the 

animals change their habits with change in season.                                                                                                                            

Q4. Do you… coloration.                                                                                 

Ans. Zoo is not a good place to see” protective coloration”.                                                                                 

Q5. How is…………. Creatures?                                                                                    

Ans. Protective coloration of the chameleon is different from 

other creatures because it can change color of its skin at different 

times.                                                                                                                           

Q6. Explain the………. Each.                                                                                        

Ans. Coloring can help animals in three following ways:     1) I t can 

protect the animal from enemy. 2) It can help the animal in 

feeding itself. 3) It can help the animal in saving life.                                                              

Lesson no 30: The adventures of Tom Sawyer           

Answer these questions on pg. no 175 part C                                                                                          

Q1. Why do you………. first?                                                                                          

Ans. Tom pretended not to notice Ben Rogers at first    because he 

was afraid that Ben would make fun of him for doing the work of 

white washing.                                                                                              

Q2. Explain: …………………. Work”?                                                                            



Ans. Although Tom wanted to eat the apple but he    continued his 

work of white washing.                                                                                

Q3. What idea………. Head?                                                                                    

Ans. Tom was trying to put the idea into Ben’s mind this idea that 

Ben could not be allowed to do work of white washing because 

that was a work of great responsibility.                                                                       

Q4. Why did……… him?                                                                                                 

Ans. Tom at first refused to help him in order to make Ben more 

eager and fond of doing work.                                                                           

Q5. Explain: ………….. Heart’.                                                                                 

Ans. He pretended that he did not like Ben working on such an 

important job but actually he was very happy to become free 

from doing such a boring and dull work.                                                                                               

Q6. ‘In order to……………. Why?                                                                                 

Ans. Yes, we agree with this idea because it is actually a fact that 

everyone desire to get something which he cannot get easily. It is 

human nature to do so.                                                                                

                         

English B                                    

Prepositions and its kinds.                                                                                 

Preposition:                                                                                                                       

A preposition is a word that is used before a noun or a pronoun. It 

shows a place, time and direction.                                                           

Kinds of preposition:                                                                                                        

Preposition of place, Preposition of time, Preposition of direction 

and movement, Compound preposition.                                                     

Preposition of Place:                                                                                                                                                        

Preposition of place are in, on and at.                                                                          

In: He is in the office.                        

At: They came at night.                                                                            



On: I do not work on Sunday.                                                                                 

Under: The dog is under the tree.                                                                                

Near: My house is near the park.                                                                                       

Beside and Besides: She is sitting beside me. There are                              

five students besides Ali                                                                                              

over: Some birds flew over his house.                                                                                 

Before: He stood before the door.                                                                                    

Behind: A school is behind my house.                                                                                      

During: Do not sleep during the lecture.                                                                   

Prepositions of Direction and Movement:                                                                                                               

Preposition of direction tells us where to go or where                               

to put something. Example: To, On, Onto, In, Towards,              

and, Downward etc. Can you tell me the way to station?                                                                                                                      

Preposition of Movement:                                                                             

They express movement with reference to a path.   Example: We 

walked along the wall.                                                                                                        

Compound Preposition:                                                                                            

Compound Preposition are made up of more than word. Some 

compound prepositions in common use     are: because, on behalf 

of, as well as, according to, by dint of etc. Prepositional Phrase:                                                                                                         

A prepositional phrase begins with a preposition and ends with a 

noun, pronoun or gerund. Example: She waited inside the house. 

The word” inside” is a preposition. The word “The” is not a noun 

or pronoun, so it cannot be called object of preposition. The word 

“house” is a noun and the object of preposition “inside”. So, the 

prepositional phrase is “inside the house”.                                                                                                                                                                                                                                                                                                                                                                                                                                        

Homophones| Pair of words.                                                                                            

1) Aloud: To talk with loud voice, Allowed: Permission. 2) Ate: To 

eat, Eight: Eight. 3) Ball: Ball, Bawl: Shout. 4) Bare: Naked, Bear: 

Animal. 5) Beet: Vegetable, Beat: To hit. 6)  Blue: Colour, Blew: To 



blow air with mouth. 7) Break: Break into pieces, Brake: A device 

used for slowing or stopping a moving vehicle. 8) Bridal: 

Concerning a bride or a newlywed couple, Bridle: A headgear used 

to control a horse. 9) Buy: Obtain in exchange of payment, Bye:                                         

Allowed to miss out a part. 10) Canon: A large heavy piece of 

artillery, Canon: Rule. 11) Cast: Throw forcefully, Caste: Each of 

hereditary classes. 12) Ceiling: The upper interior surface of a 

room, Sealing: Fasten or close securely. 13)                                               

Cell: A small room, Sell: Give or hand over in exchange of money. 

14) Cent: A monetary unit in various countries, Sent: To sell. 15) 

Cite: Refer to a book, passage or author, Site: A place. 16) Coat: 

An outer garment with sleeves, Cote: A shelter for animals. 17) 

Dear: Loved one. 18) Elicit: Evoke or draw out, Illicit: Illegal. 19) 

Ewe: A female sheep, you: You. 20) Eyelet: Evidence, Islet: A small 

island. 21) Fair: Treating people equally without favoritism, Fare: 

The money paid for a journey on public transport. 22) Ferry: A 

boat or ship for conveying passengers, Fairy: A mystical creature. 

23) Feat: The achievement that requires great courage, Feet: Part 

of body. 24) Fowl: A bird, foul: Offensive to the senses. 25) Flee: 

To run, Flea: A small wingless jumping insect.                                                                   

Essay: A visit to hill station, M y hobby, Computer.                                   

Stories: The fox and the grapes, A wood cutter and God mercy, A 

foolish servant.                                                                        

Application on sister’s marriage and change of section.                   

Letter to your father for lending some money, congratulating your 

friend\sister on her success, borrow your friend’s camera.                                                                       

Grammar Club unit: 5, 6 and 7.                                                                                                                                                                                      

Learn all the Words  \  Antonyms   and Synonyms .                                                                                                                                                                                                          











  









































 

 


  










 











































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






















 




























  















 



























 













 

















 













 
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
  

 1122   1122  




 

 
 





































































































































 






 



































 


















 



























Class 7   second term syllabus  

 

Unit 10  Factorization of Algebraic Expressions Exercise No. 10a 

Q Resolve Into Factors 

1.   p2q + pq2       Note:- pq are present in 

=pq(P + q)       both terms so we can 

2.  3x2 – 15x2y       Take pq as common factor 

  3x2(x - 5Y)       Which has smaller 

3. 45y4 - 9xy3       exponent. 

9y3 (5y - x) 

 

4. 6p2q + 12pq2      5. 5a4b2 + 15 a2b4 

 6pq(p + 2q)       5a2b2(a2 + 3b2) 

 

6.  xy + x + y + 1      7.    am3 – am2 – m + 1 

 =x(y + 1) + 1 (y + 1)      =(am3 – am2) – (m + 1) 

 =(y + 1) (x + 1)      =am2 (m –1) – 1 (m – 1 ) 

         =( am2 –1) (m – 1) 

 

 

8. 4a2 + 12ab + 9b2     9.    x2 – (p + q)x + pq 

 4a2 + 6ab  + 6ab + 9b2      =x2 – (px + qx) + pq 

 2a (2a +3b) +3b (2a + 3b)     =x2 – px – qx + pq 

 (2a + 3b) (2a + 3b)      x – (x – p) – q(x – p) 

         (x – p) (x – q) 

 

10.     abc – ab – c  + 1 

 = ab(c – 1) – 1 (c – 1) 

 = (ab – 1) (c – 1) 

 

 

11.    (a + b) (p + q + r) + (b + c) (p+ q + r) + (c + a) (p + q + r) 

=(p + q + r) (a + b) (b + c) (c + a) 

=(p + q + r)(a + b + b +c + c + a) 

=(p + q + r) (2a + 2b + 2c) 

=(p + q + r) 2(a + b + c) 

=2(a + b + c) (p + q + r) 

 

 

 



 Exercise No. 10b  Factorization  

we know that 

(a + b) (a - b)= a2+b2  formula 

 

 
1. 9x2 -25y2     2. 1 – 9c2 

a2 – b2 = (a + b)(a - b)     a2 – b2 = (a2 + b2) (a2 – b2) 

(3x)2 – (5y)2 = (3x + 5y) (3x - 5y )   (1)2 –(3c)2 = (1 + 3c) (1 – 3c) 

 

       3.    m2n2 –p2     4. 1 – ( p + q)2 

(mn)2 – (p)2      a2 –b2 = (a + b) (a - b) Formula 

(mn + P) (mn – P)    (1)2 – ( p+ q)2 = (1 + p+ q) [1 – (p + q)] 

                 = (1 + P+ q) [1 – P - q) 

 

5.       a        b 

(x + y)2 – (x - y)2 

 a2 –b2 = (a + b) (a - b) Formula 

(x + y)2 – (x - y)2 = (x + y + x - y) (x + y - x - y) 

    = (2x) (2y) 

    = 4xy 

 

6. 9x2 – (2x - 3y)2 

  (3x)2 – (2x – 3y)2 

 a2 –b2 = (a + b) (a - b) Formula 

(3x)2 – (2x – 3y)2 = (3x +2x + 3y)(3x – 2x _ 3y)  

       = (5x – 3y) (x + 3y) 

 

7.  (a + b - c)2 – (a - b +c)2   

a2 –b2 = (a + b) (a - b) Formula 

 (a + b - c)2 – (a - b +c)2 = (a + b -c + a –b +c) (a + b -c - a + b -c) 

   = 2a (2b -2c) 

   = 2a×2(b-c) 

   = 4a(b - c) 

 8.   

3a (3a -2b) + b2 – c2 
 (9a2 – 6ab + b2) – c2 

 =[(3a)2 – 2×3a×b + (b)2] –c2 

 =(3a - b)2 –(c)2  

 =(3a – b + c) (3a – b - c) 

 

 

9.  9(p - q)2 -25(q - r)2 

 =[3(p - q)]2 –[5(q - r)]2 

=(3p - 3q)2 –5(q - r)2   a2 –b2 = (a + b) (a - b) Formula 

=(3P - 3q +5q - 5r) (3p – 3q -5q +5r) 

=(3P - 2q - 5r) (3P – 8q +5r) 



 

   10. a8 – b8 

 = (a4)2 – (b4)2 

 = (a4 + b4) (a4 – b4) 

 = (a4 + b4) [(a2)2 – (b2)2] 

 = (a4 – b4) (a2 + b2) (a2 – b2) 

 = (a4 – b4) (a2 + b2 (a + b) (a – b) 

 

 

Exercise no.11  Simple equation 

 

 

1. 2x + 5 =19    2.  -7x + 2 =23 

 2x =19 – 5             -7x = 23-2 

 2x =14      -7x = 21 

 x = 14/2       x = -21/7 

 x = 7        x = -3 

  

 

3.  8x – 3 = 3x + 17   4.  9x + 4 = 7x + 12 

 8x – 3 = 3x +17 + 3    9x – 7x = +12 -4 

 5x = 20      2x = 8 

 x= 20/5      x= 8/2 

 x = 4       x= 4 

 

 

5.  3(6 – 2x) +4(5x – 1)  = 0                               6. 3(x – 5 ) = -2(4 – x ) 

    18 – 6x + 20x – 4 = 0          3x – 15 = -8 + 2x 

   -6 + 20x =  4 – 18          3x – 2x = -8 + 15 

   14x = -14          x = 7 

   X = 
−𝟏𝟒

𝟏𝟒
 

   X = -1 

 

 

 

 

 



 Taking LCM of 5, 15     Taking LCM of 2, 3 

7.     
−𝟔𝒙

𝟓
   +  

𝟐𝒙

𝟏𝟓
    =  - 4    8.     

𝒙

𝟐
 - 6  = 8 - 

𝟐𝒙

𝟑
 

15 ×  
−𝟔𝒙

𝟓
  +  15 × 

𝟐𝒙

𝟏𝟓
  = - 4 × 15     

𝒙

𝟐
 +  

𝟐𝒙

𝟑
  = 8 + 6 

-18x  + 2x =  -60       6 × 
𝒙

𝟐
  + 6 × 

𝟐𝒙

𝟑
   = 14 

-16x = - 60 minus cut by minus    3x  + 4x = 14  

x = 
𝟔𝟎

𝟏𝟔
        7x = 14 

x = 3.75       x = 
𝟏𝟒

𝟕
  

                                                                                              x= 2 

9.   
𝟐𝑿−𝟒

𝟑
   -    

𝟑𝑿+𝟐

𝟒
     =   

𝑿−𝟓

𝟔 
   -  

𝟑

𝟏
  

412 × 
𝟐𝒙−𝟒

𝟑
  - 12 × 

𝟑𝒙+𝟐

𝟒
     = 12 × 

𝒙−𝟓

𝟔
  - 12 × 3                                                2    3,4,6 

8x – 16 – 9x– 6  =  2x – 10 – 36                                                 3    3,2,3 

8x – 9x – 16 -6    =  2x – 46           2    1,2,1 

-x – 22        =       2x – 46                                                                 1,1,1 

-x – 2x        =   46 + 22 

-3x              =    -24      x = 
𝟐𝟒

𝟑
   , x  = 8  

10. 
𝒙−𝟐

𝟑
    +  

𝒙−𝟓

𝟒
     =   

𝒙−𝟓

𝟔
      +     

𝒙−𝟕

𝟖
   11.  

𝒙

𝒂
   + 

𝒙

𝒃
      =   

𝒂𝟐  −  𝒃𝟐

𝒂𝒃
    

24 × 
𝒙−𝟐

𝟑
  +  24 × 

𝒙−𝟓

𝟒
   =  24 × 

𝒙−𝟓

𝟔
    +  24 × 

𝒙−𝟕

𝟖
  ab × 

𝒙

𝒂
    +   ab × 

𝒙

𝒃
   =   

  (𝒂 + 𝒃)   (𝒂 + 𝒃)

𝒂𝒃
  ×  ab 

8x – 16 + 6x – 30    =   4x – 20 + 3x – 21   bx + ax         =     (a + b)   (a – b) 

8x + 6x – 30 – 16    = 4x + 3x -20 – 21   x(  b + a)       =   ( a+ b)   ( a – b) 

14x – 46       =   7x – 41      x ( a+ b)          =  ( a+ b)   ( a – b) 

14x – 7x       =   -41  + 46     x         =        
(𝒂 + 𝒃)    ( 𝒂− 𝒃)

(𝒂+𝒃)
 

7x                =          5     x           =           a - b 

x                    = 
𝟓

𝟕
 

 

1 



 

12.  8  ( 
   𝒙

𝟐
  - 5 )   =  7x + 2    13.   3( 2x + 5 ) – 2x   =  3 ( x + 6 ) 

8 × 
𝒙

𝟐
    -  8×5   =  7x + 2            6x + 15  - 2x    =   3x + 8  

4x – 40      =  7x  +  2             6x – 2x + 15    =  18 + 3x 

4x – 7x  = 2 + 40      4x + 15             =   18 + 3x 

-3x    =   42                    4x – 3               =   18 - 15 

x   = −
𝟒𝟐

𝟑
                             x   =       3 

x  =   - 14 

 

14.  5x +  2( 2x – 1 )  =  3x – 14   15.  3(X + 4) + 5(x + 3) 

5x + 4x – 2   =  3x – 14    3x + 12 + 5x + 15   =  2x - 27   

  

9x – 2      = 3x – 14     3x + 5x + 12 + 15    =  2x  - 27 

9x – 3x   = -14 + 2    8x + 27     =  2x  - 27 

6x   =  -12      8x – 2x    = -27 -27 

x = 
−𝟏𝟐

𝟔
    x = -2   6x   = -54   x= 

−𝟓𝟒

𝟔
   x = - 9 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 

Unit 12 

Lines and angles 
Q1. Draw a line segment 𝐴𝐵 𝑜𝑓 𝑙𝑒𝑛𝑔𝑡ℎ 6.6𝑐𝑚. Bisect it perpendicular at N. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1. Draw a line segment 𝐴𝐵 = 6.6.cm 

2. With A as center draw an arc  above and below the line segment 𝐴𝐵 more than half of 

𝐴𝐵. 

3. With B as center draw an arc  above and below the line segment 𝐴𝐵 more than half of 

𝐴𝐵. 

 

4. These arcs cut each other at point C and D. 

5. Join C and D. 

6. CD is the required perpendicular to 𝐴𝐵. 
 

 

Q2. In the given figure 𝐴𝐵 II 𝐶𝐷 ⃡     and 𝑃𝑄 ⃡     is a transversal cutting them at two points 

Find <x and <y. 

 
 
 
 
 
 
 
 

C 

N A B 

D 

6.6cm 

P 

140o 

Q 
D C 

A B 
x y 



 
 
 

We know  that 𝐴𝐵 ⃡     II 𝐶𝐷 ⃡     

Straight line angle = 180o 

m<y = 140o 

m<x + m<y = 180o 

    m<x + 140o = 180o 

 m<x = 180o - 140o  

m<x = 40o 

 

Q3. The arm of <ABC and <DEF are parallel .Find <x and <y. 

                   

 

 

 

 

 

 

 

 

 650 

 

 

 

 

 

 

Given data  

m< B =65o   ,x ,y =? 

solution 

We know arms ae parallel then  

If m<B = 65 o then m<y=65 o 

    m<x + m<y = 180 o 

      m<x + 65 o= 180 o 

    m<x = 180 o - 65 o 

     m<x = 115o 

 

Q4. In the given figure 𝐴𝐵 ⃡    II 𝐶𝐷 ⃡     and 𝑃𝑄̅̅ ̅̅ ⊥ 𝐴𝐵 ⃡     and 𝐿𝑀̅̅ ̅̅  ⊥ 𝐶𝐷 ⃡     . Find m<𝑀̅ if m𝑃𝑄̅̅ ̅̅  =1.4cm 

 
 
 
 
 
 
 
 

A 

B 
C 

D 

E 
F 

A B 

C D 

P 

Q M 

L 



 

Given data 𝐴𝐵 ⃡     II 𝐶𝐷 ⃡     , 𝑃𝑄̅̅ ̅̅  ⊥ 𝐴𝐵 ⃡     and 𝐿𝑀̅̅ ̅̅  ⊥ 𝐶𝐷 ⃡     m𝑃𝑄̅̅ ̅̅ = 1.4 , m<M=? 

Solution 

Because 𝐴𝐵 ⃡    II 𝐶𝐷 ⃡     are parallel then  

If 𝑃𝑄̅̅ ̅̅  = 1.4cm 

Then 𝐿𝑀̅̅ ̅̅  is also = 1.4cm. 

 

Q5. In the figure 𝐴𝐵 ⃡    II 𝐶𝐷 ⃡     and 𝑃𝑄̅̅ ̅̅  and 𝑅𝑆̅̅̅̅  are two transversals. Evaluate the anglr r,y,z. 

 

  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Given data 

𝐴𝐵 ⃡    II 𝐶𝐷 ⃡     because these are parallel lines      then m<y =60o    ,     straight lines angle =180o 

m<x + m<y =180o 

m<x + 60o =180o 

m<x = 180o - 60o 

             =120o 
m<z + m<75o = 180 o 

m<z = 180o - 75o 

          =105o         
 
 
 

C 

A B 

D 

P 

Q 

R 

S 

60o 75o 

x 

y 

z 















































Unit 17a    Perimeter And Area of geometrical Figure  

 

Perimeter: The distance around a round figure is its perimeter. 

Formulas:   Perimeter of square   = 4L 

  Perimeter of a rectangle= 2(l  + b) 

  Perimeter of a parallelogram = 2(l  + b) 

  Area of square = l × l = l2  or  b×b = b2 

 

Q3.Find the perimeter of each 

a. A square of side 8cm. 

 length of square =L= 8cm 

 perimeter of square =  4L =  4x 8 =32cm   

 

b. A rectangle of sides 6c m by 4cm 

 length of rectangle= 6cm 

 breadth of rectangle= 4cm 

 perimeter of rectangle =  2(l  + b) 

    =2(6cm  + 4cm) 

    = 2(10cm) 

    = 20cm 

 

 



c. A triangle of sides 3cm, 4cm, 5cm. 

 perimeter of triangle = 3+4+5 = 12cm 

 

 

d.  A parallelogram with sides 8cm, 6cm 

  length of parallelogram = 8cm 

 breadth of   parallelogram = 6cm 

 perimeter of parallelogram  =  2(l  + b) 

    =2(8cm  + 6cm) 

    = 2(14cm) 

    = 28cm  

 

e. a rhombus of sides 5.5cm. 

 length of rhombus   =L= 5.5cm 

 perimeter of rhombus  =  4L =  4x 5.5 =22.0cm 

 

 

Q5.The length of rectangle is twice its breadth .Find its perimeter if its length to 

12cm. 

 breadth of rectangle= 
12

6
 = 6𝑐𝑚 

 length of rectangle= 12cm 

 perimeter of rectangle =  2(l  + b) 



    =2(12cm  + 6cm) 

    = 2(18cm) 

    = 36cm 

 

Q6. A rectangular piece of land measures 8m by 5m . it is to be fenced with 4 lines 

of the wire. What length of  wire id needed 

  

 length of rectangular land= 8m 

 breadth of  rectangular land = 5m 

 perimeter of  rectangular land  =  2(l  + b) 

    =2(8m  + 5m) 

    = 2(13m) 

    = 26m 

 No. of lines = 4 

 Fence needed = 26 x 4 = 104m 

 

 

Q7. A rectangular garden is 105m by 75m .  how many rounds  of this garden will 

boy complete,if he runs 3600 meters ? 

length of rectangular garden= 105m 

 breadth of  rectangular garden  = 75m 

 perimeter of  rectangular garden =  2(l  + b) 



    =2(105m  + 75m) 

    = 2(180m) 

    = 360m 

 Total distance = 3600m 

 No. of rounds = 
3600

360
  = 10 

 

 

Q9. Find the area of the floors which is covered by 1050 tiles, each tile measuring 

20 squares metre 

 

Area  of each tiles  = 20 square cm or cm2  

1cm  = 
1

100
 m 

1 cm2 = 
1

10000
 m2 

20 cm2 = 
20

10000
  = 0.002 m2 

No . of tiles = 1050  

Area of floor =  1050 x 0.002 = 2.1 m2 

 

 

Q10 find the cost of tiling the floor of a room , 12metere by 9 meter at Rs 50 per 

wide and 8 meter high, with paper 2 meter wide at Rs per meter    

Length of floor of room = 12m 

Breadth of floor = 9m 



Area of floor = l x b 

  = 12 x 9 = 108 m2 

Cost of paving = Rs 50 x 108 

  = Rs 5400 

 

 

Ex 17b 

Q1 find the area of circle of radius 3.5cm 

Radius of circle = r = 3.5cm   𝜋 = 3.142 

Area of circle = A = 𝜋𝑟2 

    =  3.142 x 3.5 x 3.5 

    = 38.4895cm2 

 

Q2. Find the area of the circular garden of radius 42m  

Radius of circle = r = 42cm   𝜋 = 3.142 

Area of circle = A = 𝜋𝑟2 

    =  3.142 x 42 x 42 

    = 5542.488m2 

 

 

 

 



Q3 find the radius of the circle with an area of 616cm2  

 

Radius of circle = r = ?   𝜋 =
22

7
 

Area of circle = A = 616𝑐𝑚2 

Area of circle  = 𝜋𝑟2 

616     = 
22

7
 x 𝑟2 

  616  x 
7

22
   = 𝑟2 

    
4312

22
  = 𝑟2 

    196  =  𝑟2 

    √196  =  √𝑟2 

    14  =  r 

 

 

Q4 calculate the area of the circular ring , whose internal and external radii are 

3cm 10 cm respectively. 

 

Internal radius of a ring = r1 = 3cm  

Internal area of a ring =  𝜋 𝑟1
2= 3cm 

     = 3.142 x 3x3 = 28.278𝑐𝑚2 

External radius of a ring = 𝑟2
 = 10cm 

External area of a ring  =  𝜋 𝑟2
2

  



     = 3.142 x10x10 = 314 .2𝑐𝑚2 

area of a  circular ring   = 314 .2𝑐𝑚2 - 28.278𝑐𝑚2 

                                        = 285.922𝑐𝑚2 

 

 

Q5.the diameters of two circle are 4cm and 6cm respectively . find the ratio their 

areas 

Diameter of one circle = 4cm 

Radius of this circle = 
4

2
 = 2cm 

Area of this circle = 𝜋𝑟2 

    = 3.142 x2x2=12.586𝑐𝑚2 

Diameter of othre circle = 6cm 

Radius of this circle = 
6

2
 = 3cm 

Area of this circle = 𝜋𝑟2 

    = 3.142 x3x3=28.278𝑐𝑚2 

Ratio of areas = 12.586 : 28.278 

   = 13 : 28 

 

 

 

 



Q6 a circular park of radius 12 meters has a road 4 meters wide running round it . 

find the cost of metalling the road at the rate of Rs 600 per Sq meter 

Radius of circular park =12m 

Area of park = 𝜋𝑟2 

   = 
22

7
  x 12 x 12 =  

3168

7
 = 452.571𝑚2 

Area of park  with 4m wide road. 

= 𝜋𝑟2 

   = 
22

7
  x (12 + 4)2  

  = 
22

7
  x (16)2  

  = 
22

7
  x 256 

 =  
5632

7
 = 804.571𝑚2 

So area of road = 804.571𝑚2 - 452.571𝑚2 

   = 352𝑚2 

cost  of metalling the road =Rs600 x 352 = Rs211,200 

 

 

Q7 the diameter of the scooter’s wheel is 44cm. how far will the scoote have 

travelled after 450 revolutions of the wheel ? give your answers in meters  

Diameter of wheel  = 44cm 

Radius of wheel = 
44

2
 = 22cm 

Circumference of wheel = 2𝜋𝑟 



     = 2 x 3.142 x22 

     = 138.248cm  = 
138.248

100
 = 1.348248m 

Wheel cover distance in one revolution = 1.348248m 

 distance in 450 revolution = 1.348248m x 450 = 622.116m 

 

 

Q8 the wheel of the bus has the radius of 50cm . how many revolutions of the 

wheel will it take to cover a distance of 3 km   

Radius of wheel = 𝑟 = 50cm 

Circumference of wheel = C = 2𝜋𝑟 

     = 2 x 3.142 x50 

     = 314.2cm  = 
314.2

100
 = 3.142m 

Wheel cover distance in one revolution = 3.142m 

 Total distance = 3km 

 =3X1000 = 3000M 

No of revolutions = 
3000

3.142
  = 955 

 

 

Q9. A goat is kept in a rectangular field 14.5m by 22m . it is tied to a pole at the 

centre of the field wit a chain that is 2.5cm long . what is the surface of the field 

on which it will not be able to graze?  

Area of rectangular field = 14.5 x 22m2  



     = 319 m2 

Surface of field where goat can go =  𝜋𝑟2 

= 3.142 x 2.5 x2.5 = 19.6375 m2 

Surface of field where goat cannot go = 319 - 19.6375  

= 299.3625 = 299 m2 

 

 



Science class 7(2 term) 

Chapter 6 

Structure of an atom 

Q1.Define atomic number. 

Ans:The number of protons present in the nucleus of an atom is called the atomic number.It is 

represented by Z. 

Q2.Define mass number. 

Ans:The sum of protons and neutrons in the nucleus of an atom is called its mass number.It is 

represented by A. 

Q3:Define shells 

Ans:The paths of movement of electrons around the nuclues are called shells. 

Q4:Define valency. 

Ans:The number of electrons that an atom wants to lose ,gain or share is called its valency.For 

example ,sodium atom (Na)loses one electron its valency is 1.Flourine atom(F)gains one 

electron,its valency is 1.Hydrogen (H)shares one electron.Its valency is also 1. 

Q5:Define ion with example. 

Ans:An atom with positive or negative charge is called an ion.For example,sodium 

ion(Na+),chlorideion(Cl-). 

Q6:Differntiate between cations and anions. 

Cation anion 

Def:when an atom releases its one or more 

electrons from the outermost shell,the number 

of protons more than that of electrons in its 

outermost shell,the cation is formed. 

Def:when an atom absorbs one or more 

electrons in its outermost shell,the number of 

electrons increases.it becomes a negative ion 

or anion. 

Example:Na+ Example:Cl- 

 

Q7:Define isotopes with examples. 

Ans:The atoms of the same element having the same atomic number but different mass numbers 

are called isotopes.For example,Hydrogen(H) has three isotopes,protuim.deuterium and tritium. 

 



Q8:Define molecule. 

Ans:A molecule is the smallest particle of an element or a compound that can exist 

independently and shows all the properties of that element or compound .For 

example,water(H2O),Hydrogen gas(H),Glucose(C6H12O6)etc. 

Q9:Define chemical formula. 

Ans:Describing a molecule in the form of symbols and valencies is called the chemical 

formula.For example,H2 represents a molecule of hydrogen gas which contains two hydrogen 

atoms.similarly, CO2 is the formula of carbon dioxide gas which shows that two atoms of oxygen 

combine with one carbon atom. 

Q10:Define Ionic compounds with definition. 

Ans:when a possitive ion(acation) attracts a negative ion (anion), an ionic compounds is formed. 

Sodium chloride (NaCl), magnesium chloride(MgCl2) 

Q11:What is criss cross method? 

Ans:When we interchange the valency numbers of both ions and write them on lower right side 

od each ion. Omit the lower +ve and –ve signs which cancel each other. Remember that numbers 

“1” is also omitted. This method of writing chemical formulae is caleed crisscross method. 

Q12:Give example of crisscross method. 

 Ans:     Ag+1 ( silver ion)    S2 (sulphide ion) 

              Ag+1            S2 

 

              Ag2S    ( Silver Sulphide) 

Solved exercise(on book) 

Answersof fill in the blanks: 

i. Isotopes 

ii. Neutrons 

iii. Atomic number 

iv. Ions 

v. Nonatomic molecule 

 

 



Answers of MCQ’s: 

i. b.electrons and protons 

ii. c.neutrons 

iii. b.there are two oxygen atoms. 

iv. d.10 

v. d.32 

 

 

Unit 7 

Physical and chemical change processes 

Q1.What is the difference between chemical and physical change? 

Chemical change Physical chnage 

Def:a chemical change is one in which a new 

substance is formed. 

Def:a physical change is one in which only 

the physical properties of a substance change 

and its chemical composition remains same. 

 

Properties:chemical change are permanent 

and are not easy to reverse. 

Properties:Size,shape,colour,etc are the 

physical properties of a substances. 

Example:burning of paper,rusting of iron. Example:freezing of water,cutting fruits into 

pieces. 

 

Q2:write a chemical reaction for rusting of iron. 

Ans:Iron+Oxygen      water                 Iron Oxide(rust) 

Q3:Define hyderocarbon. 

Ans:A hydrocarbon is a compound consisting of only hydrogen and carbon atoms.These 

hydrocarbons are mostly obtained from crude oil (petroleum). 

Q4:What are the liquid fertilizers? 

Ans:A liquid fertilizer is a clear solution .it contains the nutrients essential fot plants. Liquid 

fertilizers are dustless and they reach to every plant easily. 

Q5:What is a manure? 

Ans:Waste materials of plants and animals are called manure.Manure is rich in nutrients needed 

by the soil.Chemical changes in manure increases the production of crops. 

 



Q6:Define plastic. 

Ans:A plastic ia any material that can be moulded into any form. 

Q7:Define manure. 

Ans:Plastics are very large molecules made from smaller molecules called monomers. 

Q8:What is the difference between reversible and irrreversible changes? 

Ans: 

            Reversible              Irreversible 

Def:a  change that can go forward or 

backward is called a reversible change. 

Def:a change that cannot go back is called 

reversible change. 

Example:melting of ice into liquid 

water,switching on a tube light. 

Example:burning of paper and wood,turning 

milk into yogurt. 

It is  a physical change. It is a chemical chnage 

 

Solved exercise(on book) 

Answers of fill in the blanks: 

i. physical change 

ii. chemical change 

iii. fertilizer 

iv. hydrocarbon 

v. plastic 

Answers of MCQ’s: 

i. b.chemical change 

ii. c.burning of candle. 

iii. c.burning of paper. 

iv. b.chemical change 

v. d.hydrogen 

vi. d.different kind of matter 

 

 

 

 



Unit 8 

Transmission of heat 

Q1.Define thermal energy. 

Ans:The kinetic energy of particles in matter is called thermal energy.when thermal energy is 

transfered ,it is known as heat.The word thermal means ‘heat’. 

Q2.Define transmission of heat. 

Ans:The transfer of heat energy from one object to the other is called transmission of heat.Heat 

energy transfers in three ways,i.e.conduction,convection and radiation. 

Q3.What is the difference between good conductors and insulators? 

Ans: 

                      Conductors                 Insulators 

Def:Materials which allow heat to flow 

through them  easily are called conductors. 

Def:materials which do not allow heat toflow 

through them easily are called bad conductors 

of heat  or insulators. 

Example:Silver,Iron. Example:Wood,glass. 

 

Q4.Why metals are better conductors than non-metals? 

Ans:Particles in metals are packed more closely together tahn non-metals.metals can transmit 

heat energy more easily than non-metals.In metals ,heat energy is transfered from one place to 

another both by vibration of particles as well as by the movement of free electrons.that is why 

metals are good conductors of heat than non metals(insulators). 

Q5.Define Convection. 

Ans:The transfer of heat in which molecules of a medium actually move to the source of heat 

energy to absorb heat and then move away from it,is called convection. 

Q6.Define convection current. 

Ans:The upward and downward movement of molecules of water or air is called convection 

current. 

Q7.Write any one applications of convection current . 

Ans:Household ventilation can make our house cool.the air which we breathe out is warmer and 

lighter.It moves up in the room to go out of the ventilators near to the top side of the walls. 



Q8.Define radiation. 

Ans:The transfer of heat energy from a hot body to a cold body directly, without heating the 

spaced in between the two bodies is called radiation. 

Q9.What is  vaccum flask? 

Ans:The vaccum flask is a container which can keep hot things hot and cold things cold.The 

vaccum flask reduces the rate of transfer of heat by all the three ways,i.e. conduction,convection 

and radiation. 

Solved exercise(on book) 

Answers of fill in the blanks: 

i. conduction 

ii. vaccum flask 

iii. radiation 

iv. black surface 

Answers of MCQ’s: 

i. c.radiation 

ii. b.convection 

iii. a.conduction 

iv. c.radiation 

v. b.convection 

vi. a.solids 

vii. b.convection of heat 

viii. d.white 

ix. a.heat energy transfers from the warmer object 

 

 

Unit 9 

Dispersion of light 

Q1.Define Refraction. 

Ans:When light passes from one transparent medium to another ,it changes its speed and 

direction(or bends).this bending of light is called refraction. 

Q2.Define incident ray. 

Ans:The ray of light that travels in one medium and falls on the surface of the second medium is 

called incident ray. 



Q3.Define refracted ray. 

Ans:The ray of light that changes its direction in the second medium is called refracted ray. 

Q4.Define normal ray. 

Ans:An imaginary line drawn perpendicularly on the surface of the medium at the point where 

the incident ray falls is called normal ray. 

Q5.Define angle of incidence. 

Ans:The angle between the normal and the incident ray.It is denoted by “i”. 

Q6.Describe laws of refraction. 

Ans:There are two laws of refraction: 

1.The incident ray,the refracted ray and the normal at the point of incidence,all lie in the same 

places. 

2. the ratio of speed of light in vaccum and its speed in another medium is always constant. 

Q7.Define refraction. 

Ans: “Refrective index is the ratio of the speed of light in vaccum to its speed in the medium”. 

Q8.Define critical angle. 

Ans:The angle of incidence for which the angle of refraction is 90 degree, is called the critical 

angle. It is noted by “C”. 

Q9.What is total internal reflection? 

Ans: when light passes from glass or water into air (denser to rarer medium), it bends away from 

the normal but when angle of incidence (i) is greater than the critical angle ‘C’, the light rays 

reflect back into the same denser medium. This phenomenon is called total internal reflection. 

Total internal reflection takes place only when: light passses from a denser medium (water or 

glass) to a rare medium (air). The angle of incidence of all rays must be greater than the critical 

angle of that denser medium. 

Q10.Why the objects lying on the bottom of the appears close to us? 

Ans:Light tgravels faster in air than in water. When light passes from a denser medium (water) to 

a rare medium (air), it bends away from the normal. When this refracted light enters opur eyes, 

the bottom of the pool and objects lying on  the bottom appear close to us than they really are. 

 



Q11.Define Mirage. 

Ans: A mirage is an image of some distant object which appears to us due to the refraction and 

total internal reflection of light. 

Q12.Define spectrum. 

Ans:Spliting of white light into its colors by passing it through the prism. The band of seven 

colours obtained is called spectrum of white light. 

Q13.Define disperison of light. 

Ans: The spliting of white light into its component colours is called disperison of light. 

Q14.Define primary Colors. 

Ans:The colors that can be used to make any other color are called primary colors. These are red, 

blue and green. 

Q15.How the white light is produced? 

Ans: We can mix the light of three primary colors to produce white light. 

Red+blue+green=white 

Q16.Define Secondary Colors. 

Ans:when two primary colors mix,. They produce a secondary color. Cyan, yellow and 

maggenda are secondary colors. Red +green= yellow, Red + blue= cyan,  Blue + 

green=maggenda. 

Q17. Define color of an object. 

Ans:The color of an object is the color of light it reflects. A red object appears red beacuse it 

reflects red color of light and absorbes all the colors. 

Unit 10 

Sound waves 

Q1.Define wavelength. 

Ans:A wavelength is a shortest distance between two adjacent crests or troughs of a transverse 

wave.For longitudinal wave ,it is the distance between two adjacent compressions or 

rarefractions.Wavelength is measured in metres(m). 

 



Q2.Define amplitude. 

Ans:Amplitude of a wave is the maximum distance of the particlesof the medium from the rest 

position.We can also say that it is the height of a crest or depth of a trough(transverse 

wave)measured from the rest position.Amplitude is measured in meters(m). 

Q3.Define frequency. 

Ans:The number of vibrations produced by a vibrating body in one second is called its 

frequency.Frequency is measured in units called hertz(Hz).When one wave passes in one second 

the frequency is 1 wave per second or 1 hertz. 

Formula:     Frequency=no.of waves/time (in sec) 

Q4.Define speed. 

Ans:The distance a wave covers in unit time is called its speed.Speed is measured in meters per 

second. 

Q5.Define Audible frequency range. 

Ans:The range of frequencies which a person can hear is known as audible frequency  range. 

Q6.What is the difference between pitch and loudness? 

Ans: 

                        Pitch                    Loudness 

Pitch is shrillness or graveness of a 

sound.Pitch of the sound depends on the 

frequency of the soundwave.The higher the 

frequency ,the higher thepitch is. 

Loudness is related to the amplitude of a 

sound.The larger the amplitude,the louder the 

sound. 

Solved exercise(on book) 

Answers of fill in the blanks: 

i. trough 

ii. pitch 

iii. speed 

iv. logitudinal wave 

v. medium 

Answers of MCQ’s: 

i. b.energy is transfered from one place to the other 

ii. d.330 meters per second 

iii. b.longitudinal wave 

iv. d.low 



v. a.solids 

 

Unit 11 

Ciruits and electric current 

Q1.Define potential energy and voltage. 

Ans:The difference of potential between two points in a circiut or battery  is called potential 

difference or voltage.potential difference causes the charges to move through the 

conductor.Potential difference is measured in Volts(V). 

Q2.What is Ohm’s Law? 

Ans:According to Ohm’s Law resistance is equal to the voltage divided by the current.It is called 

Ohm’s law. 

Q3.Define Resistance. 

Ans:Resistance is the hindrance to the flow of current.During its journey through an electric 

circuit,the current collides countless times with atoms within the conductor(wire).These 

collisions result in the hindrance to the movement of the current(resistance). 

Q4.On which factors resistance depends upon? 

Ans:The resistance of a wire depends on the length of the wire and thickness of the wire. 

Q5.Define Electrical power. 

Ans.Electrical power is the rate at which a device converts electrical energy into another form of 

energy.Its unit is watt(W).                    

Solved exercise(on book) 

Answers of fill in the blanks: 

i. series circuit 

ii. kilowatt-hour 

iii. Watts 

iv. Ampere 

Answers of MCQ’s: 

i. C.flow of electrons 

ii. A.volts 



iii. B.glass 

iv. A.thickness of wire 

v. B.voltmeter 

vi. B.parallel circuit 
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Subject: Social Studies                              Madam Tabitta Riaz 

[Second term syllabus (Class 7 P/G/B)] 

Section 1: GEOGRAPHY 

 

CHAPTER SIX: Trade and commerce 

A. Fill in the blanks. 

1). A country wealth is very much like that of an _________ family. (ordinary)  

2). For a country the wages are called _______________.  (exports) 

3). The commodities we buy are called________________. (imports) 

4). International organization are such as the_________________. (World bank) 

B. Possible options are given for each statement Mark (✓) on the correct option. 

i.  Manufacture products are  

(a) wheat      (b) book  (c) chemical ✓ 

ii.  The value of exports and imports is called 

(a) unbalance payment   (b) balance payment ✓ (c) no one 

iii.  ____________ Pakistani’s work abroad. 

(a) hundreds of thousand ✓      (b) thousands    (c) lakhs 

iv.  The euro is official currency of ___________. 

(a) 16 members of states ✓  (b) 27 members of state (c) 30 members of states 

v. After euro the second trading currency is___________. 

(a) rupees      (b) coins     (c) dollar ✓ 

C. Short questions 

1).  What is Euro?  

Answer. The Euro is common currency of the European Union.  

2).  In which two countries what should be done for trading? 

Answer. Trading between countries can be much like buying or selling for a home. 

3).  What is the meaning of export and import? 

Answer. Exports: For a country the wages are called exports. 

Imports: The commodities we buy are called imports-things we buy from other countries. 

D. Long questions 
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1. Draw a map of trading from Arabia to Japan. 

Answer. Page no. 33 (see the diagram) 

2. Draw a picture of complicated trading. 

Answer. Page no. 33 (see the diagram) 

3.  Why is important for a country to balance its exports and imports? 

Answer. i). A country’s wealth is very much like that of an ordinary family. 

ii). We work to earn wages. 

iii). If we spend less than we earn, we have money to save. 

iv). We have to pay back the money we have borrowed. 

v). For a country, the wages are called exports. 

vi). The commodities we buy are called imports. 

vii). If a country exports more than its imports, it has spare money to buy more imports for 

developments. 

viii). The wealth of a country comes largely from its exports. 

ix). The values of exports and imports set against one another is called the balance of 

payment. 

x). A country which sells more than it buys is said to have a positive balance of payments. 

 

CHAPTER SEVEN: Transport and communication 

A. Fill in the blanks.  

a). For ________ air travel is very important for carrying_____________.  (cargo, mail) 

b). In ______________ large ocean-going _________ can sail even 1500 kilometres. (South 

America, vessels) 

c). The ______________ is really a gigantic floating tank. (oil tanker) 

B.  Possible options are given for each statement Mark (✓) on the correct option. 

i. Oil tankers are 450 meter long and ____________ meters wide. 

(a) 70 ✓    (b) 90     (c) 30 

ii. Goods are sending by sea on_______________ . 

(a) tankers    (b) containers ✓   (c) boats  

iii. By air _____________ carries things. 

(a) Aeroplanes ✓    (b) helicopter    (c) cargo ✓ 
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iv. Pipelines need booster about every ___________ kilometer. 

(a) 80 ✓    (b) 70         (c) 900 

v. Cheaply transportation is ___________. 

(a) By sea     (b) by air    (c) by train ✓ 

C.  Short questions 

1).   What is the main role of train?  

Answer. They can carry huge amounts of goods and passengers fairly cheaply over long 

distances. 

2).   What is the main role of meters? 

Answer. Motor vehicles can load up at the factory or farm and carry the goods quickly and 

directly to where they are needed. 

3).   What are the means of pipelines? 

Answer. Pipelines are means of transportation especially useful for moving oil, gas and 

petroleum within a region. 

4).   What do you know about the communication in Pakistan? 

Answer. Most of the Pakistan has an excellent communication system television, radio, 

mobile phones and other electronic equipment. 

5).   How many types of ships are important today? 

Answer. Two types of ship are most important commercially today: 

1). The oil tanker. 

2). The container ship. 

D.  Long questions 

1.   Computer technology has changed our lives. Write down at least five 

ways to show how this is so? 

Answer. i. We can communicate easily to whole world. 

ii. We can get more information of anything by using online shopping mart by computers. 

iii. We can buy and sell by using online shopping mart by computers. 

iv. We can entertain ourselves by using computers. 

v. We can solve our educational problems by using it. 

 

CHAPTER EIGHT: Environment 

A. Fill in the blanks. 

1). The population of the Earth in 2007 was about ____________billion. (6.5 billion) 
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2). The estimated world population in 2050 will be ____________billion. (10 billion) 

3). Billions of motor vehicles emit ___________gases. (toxic) 

4). The gas emissions from factories form a __________ causing___________. (blanket, 

global warming) 

B. Short questions 

1).   What is the population of the Earth in 2007?  

Answer. The population of the Earth in 2007 was about 6.5 billion. 

2).   What will be the population of the Earth in 2020? 

Answer. The population of the Earth in 2007 was about 10 billion.  

C. Long questions 

1).  Write a short note on global warming? 

Answer. Page no. 42, heading: Global warming (The vast amount of………and Maldives). 

2). Draw a picture of green house. 

Answer. Page no. 43 

CHAPTER NINE: The population of the Muslim world 

A. Match countries (Column" A") to their capitals (Column "B"). 

Column A Column B 

Azerbaijan Mogadishu 

Somalia Almaty 

Tajikistan Baku 

Kazakhstan Dushanbe 

Yemen Sana’a 

 

Answer: 

Column A Column B 

Azerbaijan Baku  

Somalia Mogadishu  

Tajikistan Dushanbe 

Kazakhstan Almaty 

Yemen Sana’a 

B. Short questions 

1).  Does the literacy affects on the progress?  

Answer. Literacy and education affect the industrial and economic growth of the nations. 
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2).  Which country has the lowest rate of adult literacy? 

Answer. The adult literacy rates in Afghanistan are the lowest figures recorded in the Muslim 

world. 

 

Section 2: HISTORY 

CHAPTER FIFTEEN: The struggle for freedom. 

A. Fill in the blanks. 

1). Indians could be appointed to the viceroy _________. (executive council)  

2). Indian Councils Act of _______________ was an important act. (1892) 

3). The Indian National Congress was formed in________________. (1885) 

B. Possible options are given for each statement Mark (✓) on the correct option. 

i.  Anglo-oriental school was opened in _________. 

(a) 712 AD    (b) 1957   (c) 1875 ✓ 

ii.  Indian National Congress formed in___________.   

(a) 1805      (b) 1885  ✓   (c) 1775 

iii.  The British viceroy __________ built up the primary schools. 

 (a) Lord Curzon ✓    (b) Lord Beddon   (c) Lord Neuton 

iv.  The Marley-Minto reforms took place in ___________. 

(a) 1902   (b) 1803    (c) 1919 ✓ 

v.           Three universities for the people of subcontinent were opened in__________. 

(a) 1820     (b) 1857 ✓     (c) 1802 

C. Short questions 

1).   When was the independence was ended? 

Answer. In 1858 the first war of independence ended with complete victory for the British 

forces and their allies.  

2).   Why were the Muslims failed for their aims? 

Answer. Muslims refused to cooperate with the British in the later reforms. Muslims refused 

to participate. As a result, they failed for their aims. 

3).  When was the Indian National Congress formed? 

Answer. In 1885 the Indian National Congress was formed.  

4).  When was the Muslim League formed? 

Answer. In 1906 the Muslim League was formed. 
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D. Long questions 

1).  Explain the importance of Government of Indian Act in1858? 

Answer. Page no. 70, heading ‘The Government of India Act’, (In 1858 the 

Parliament………..to help rule.). 

2).  Why are the Morley-Minto reforms considered important? 

Answer. Page no. 73-74, heading ‘Morley-Minto reforms’, (These reforms………..viceroy’s 

Executive Council). 

 

CHAPTER SIXTEEN: The road to independence 

A. Possible options are given for each statement Mark (✓) on the correct option. 

i. Round table conference was held in _________. 

(a) 1930 ✓          (b) 1935   (c) both 

ii. _______________ was the great leader of Muslims.   

(a) Quaid-e-Azam ✓  (b) Allama Iqbal (c) Ghandi 

iii. ________ points had given by Quaid-e-Azam for Muslims. 

(a) Seventeen    (b) fourteen  ✓  (c) twenty 

iv. ___________ act was so important for independence. 

(a) 1785    (b) 1930  (c) 1935✓ 

v.  The Government of India Act was passed in __________. 

(a) 1906                  (b) 1930                 (c) 1935 ✓ 

B. True or False. 

a. Round table conference was held in India.                               (False) 

b. The fourteen points were given to Muslims in 1929.      (True) 

c. Allahabad meeting was held in 1935.           (False) 

d. On Congress side the members were Ghandi, Nehru, Tipu Sultan. (False)   

e. The First World War took place from 1914-1918.       (True) 

C. Short questions 

1).   When was the First World War took place?  

Answer. The First World War took place from 1914-1918.  

2).   When was M.A. Jinnah joined Muslim League? 

Answer. When was M.A. Jinnah joined Muslim League in 1913. 

3).   Who took the active part for Hindus? 
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Answer. Mr. Mohandas Karamchand Ghandhi took the active part to lead the Hindus.  

4).   Write down the names of Muslims and Hindus leader in 1929? 

Answer. Hindu leaders: Ghandi, Nehru, Tilak. 

Muslims leaders: M.A. Jinnah and Sir Allama Iqbal. 

D. Long questions 

1).   Write down the short note on the importance of Allahabad meeting. 

Answer. Page no. 77, heading ‘Morley-Minto reforms’, (On the other hand………..present                                                                                                                                                                                                                                                                                                                                                                                                                   

-day Pakistan).  

CHAPTER SEVENTEEN: Leading the freedom movement 

A. Short questions 

1).   Why did the Muslims give M. Ali Jinnah the title of Quaid-e-Azam?  

Answer. It is in recognition of Jinnah’s brilliant and sincere leadership that the Muslims of 

the subcontinent hailed him as Quaid-e-Azam.  

2).   When Jinnah was elected as a member of Parliament? 

Answer. In1910 he was elected to the Indian Legislative Council- the nearest organization at 

the time, to the parliament. 

3).   When was the Independence Bill passed? 

Answer.  The Bill was passed on 4th June 1947. 

4).   When did Miss Fatima Jinnah die? 

Answer.  Miss Fatima Jinnah died in Karachi in July 1967. 

B. Long questions 

1).   Write down the short note on Lahore resolution. 

Answer. The famous Lahore Resolution, pointing the way to an independent Pakistan was 

passed on 23 March 1940 in Lahore. This day was celebrated as a national holiday in 

Pakistan. In Lahore Resolution Quaid-e-Azam stated for the first time that there must be two 

separate states: a Muslim state and a Hindu state.  

CHAPTER 18: 1937–46: The last steps to independence 

A. Long questions 

1).   Write down the problems faced by young Pakistan. 

Answer. i).The Indians took over all the British institutions like the civil service, military 

forces and the administration while Pakistan had to create these anew. 

ii). Pakistan had a terrible refugee problem. The new government had to provide for them out 

of limited supply of resources. 
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iii).There were no more inspirational leaders who could compete with a great stature of the 

founders of the state. 

iv). Kashmir was an open wound even after the UN ceasefire.  

v). Pakistan was not a rich country. 

vi). East and West Pakistan were over 1600 kilometers apart and there was no 

communication network between them.  

CHAPTER 19: Pakistan—1947–71 and beyond 

A. Possible options are given for each statement Mark (✓) on the correct option. 

i. One Unit’ was established in _________. 

(a) 1950 ✓          (b) 1935   (c) 1953 

ii. Pakistan officially became an Islamic Republic in _________. 

(a) 1956 ✓          (b) 1957   (c) 1967 

iii. Pakistan was invaded by the Indian army over the Kashmir issue on_________. 

(a) 6 October 1966         (b) 14 August 1967   (c) 6 September 1965✓ 

iv. The Tashkent Conference was held in _________. 

(a) February 1966  (b) March 1967   (c) January 1966 ✓     

v. Bangladesh was created on _________. 

(a) 16 December 1971 ✓       (b) 6 December 1970   (c) 16 November 1971 

B. Match Column" A" to Column "B". 

Column A Column B 

Bhutto era 1959–1969 

Ayub era 1999–2008 

Zia era 1972–1977 

Musharraf era 1977–1988 

 

Answer: 

Column A Column B 

Bhutto era 1972–1977  

Ayub era 1959–1969  

Zia era 1977–1988  

Musharraf era 1999–2008 

C. Short questions 
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1).   Who abolished ‘One Unit’? 

Answer. Yahya Khan abolished ‘One Unit’. 

2).   Who introduced ‘one-man-one-vote’? 

Answer. Yahya Khan introduced ‘one-man-one-vote’. 

3).   Who was the first Chairman of the Pakistan People’s Party? 

Answer. Zulfikar Ali Bhutto was the first Chairman of the Pakistan People’s Party. 

4).   When was Benazir Bhutto assassinated? 

Answer. Benazir Bhutto was assassinated in 27 December 2007. 

D. Long questions 

1).   Write down the strengths and weaknesses of the Ayub era. 

Answer. Page no.96, heading: Strengths and weaknesses of the Ayub era (Law and 

order….. position than before.). 

CHAPTER 20: Human rights 

A. Fill in the blanks. 

1). _________ is revered by Jews, Christians, and Muslims alike. (Hazrat Musa)  

2). Hazrat Isa taught __________for all humanity. (peace)  

3). ___________taught that the state should be run like a large family. (Confucius) 

4). ___________chose death instead of denying the truth. (Socrates) 

B. Possible options are given for each statement Mark (✓) on the correct option. 

i. The Republic’ was written by _________. 

(a) Confucius  (b) Plato ✓          (c) Voltaire 

ii. Confucius was a philosopher _________. 

(a) Greek (b) Roman   (c) Chinese ✓         

iii. Hemlock is a _________. 

(a) Book (b) Thinker           (c) A poisonous drink✓ 

iv. The Republic’ was written by _________. 

(a) 1950 ✓          (b) 1935   (c) 1953 

C. Short questions 

1).   Who was a famous student of Plato? 

Answer. Aristotle, the Greek philosopher, was one of Plato’s students. 

1).   ‘Man is born free, but everywhere is in chains.’ Who said these words? 

Answer. The French philosopher Rousseau. 
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D. Long questions 

1).   Write down the short note on last sermon of the Prophet Muhammad 

(PBUH). 

Answer. Page no. 102 (The last sermon…………..daughters and mothers.) 

 

 

(NOTE: Second term syllabus is for writing and learning.) 



Social Studies (Class 7 P/G/B) 

CHAPTER 3: Main agricultural pro ducts of the Muslim world. 
 A. Fill in the blanks. 

1). _________ is the world’s leading producer of palm oil. (Malaysia)  

2). _______________is the tropical equivalent of wheat.  (Rice) 

3). The Aztecs called cocoa________________. (Xoco latl) 

4). Coffee was discovered in the / region._________________ 

5). ______________is the main producer of coffee in the Muslim world. (Indonesia)   

6). Muslim countries produce ____________-of the world’s tea. (15%)  

7). The rubber plant was originally found only in the___________ rainforests. (Amazon) 

8). Muslim countries produce_________ % of the world’s cotton. (20%) 

9). _____________produces 3.5% of the world’s sugar. (Pakistan) 

10). __________produces high quality wool. (Turkey) 

11). _______________is the world’s biggest producer of cotton. (China) 

12). _______________________is the world’s largest producer of sugar cane. (Brazil) 

13). Bagasse is the by-product of______________ . (Sugar cane) 

14). The word coffee comes from the Arabic word _______________. (Kahwah) 

B. State True and False. 

1). Tea is said to have been drunk in China from about 3000 bce. (True) 

2). Cocoa was originally the drink of Mexican nobles. (True) 

3). The earliest rice known is from the Yangtze Valley about 1000 years ago. (False) 

4). Cotton is the earliest known textile. (False) 

5). Sugar mills are generally located close to sugar cane. (True) 

C. Short questions 

1). Write the uses of cotton.  

Answer. Cotton is a general all-purpose fabric, which can range from coarse canvas to finest 

muslin. It is by far the largest export earner of Pakistan and is vital to its economy.  

2). Write the kinds of rubber. 

Answer. Natural and artificial or synthetic rubber. 

3). Name some main agricultural products of Pakistan. 

Answer. Wheat, rice, sugar cane, cotton, etc. are main agricultural products of Pakistan. 

4). Which are rubber producing countries? 

Answer. Central Africa, Malaysia, and Indonesia are rubber-producing countries. 

current price of oil. (It was about US$88 in May 2012). 

D. Long questions 

1). Write a note on wool. 

Answer. Wool is the earliest known textile and comes from sheep, goats, camels, and 

animals such as alpaca and vicuna (both very expensive materials from the Andes in South 

America). Wool curls naturally and has great resilience so that it retains its shape and 



elasticity. It also absorbs moisture, unlike most synthetic fabrics such as nylon and terylene. 

Woollen garments, however, need much more care than those of cotton, silk, or synthetics.  

2). What do you know about cocoa? 

Answer. Cocoa was originally the drink of Mexican nobles who even had a god in their 

pantheon dedicated to cocoa. It was for long rejected by Europeans, after it was introduced by 

the early explorers, until it became popular, with coffee, in the 17th century. Today more 

cocoa goes into the production of chocolate and sweets than as a drink. 

  

(Note: Exercises of first two chapters are already dictated.) 
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Unit # 4: 

  “Introduction to Multimedia Presentations”   

 

Q1. Define the following. 

Multimedia:  

Multimedia is a combination of all or some of the media elements. The 

elements of multimedia include text, graphics, audio/ video and animation. 

placeholder:  

All slide layouts contain boxes with dotted boarders called placeholders. 

Text: 

Text is a combination of letters and numbers that a user type with a 

keyboard. 

Background: 

The background of a slide is the area behind the text and graphics. 

Animation: 

Animation is a technique used to create movement in objects. For example, 

cartoon programs and animated movies etc. 

Graphics: 

Digital representation of non text information such as drawings, 

photographs, paintings and charts etc. are called graphics. 

Sound: 

A wave or vibration which can be heard by human ears is known as sound. 

Slide: 

A single page of presentation created in PowerPoint is called a slide.  
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Slide show: 

Slide show is the presentation of all the slides one after another. 

 

Answer these questions: 

Q1. How can we fill background with different ways? 

Ans. The background of a slide is the area behind the text and graphics. We 

can fill background with different ways that are given below: 

1. Gradient fill:  

A gradual progression of colours and shades, usually from one colour 

to another colour, or from one shade to another shade of the same 

colour. 

2. Texture fill: 

The feel of the surface or a fabric is called texture. There are different 

textures available in power point to set as background. 

3. Picture fill: 

A visual representation of an object or sense or person produced on a 

surface is known as picture. For example paintings, drawings, and 

photographs etc. 

Q2. Explain slide layout and its uses in a presentation. 

Ans. A slide layout is a ready made or predefined design of a slide available in 

Microsoft PowerPoint. 

A slide layout contains boxes with dotted boarders called 

placeholders.These boxes hold title and body text or objects such as Smart Art 

graphics, charts, tables and pictures. There are different slide layouts available 

in PowerPoint. A user can select the appropriate slide layout for the 

presentation.  
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Q3. What is slide transition? 

Ans. Slide transition is the movement from the one slide to another in the slide 

show. A user can add sounds, select the speed and style to the transition 

effects.  

 

 

Q4. Describe custom Animation. 

Ans. Custom animation is the list of animated affects that user can apply to 

different selected objects on the slide during the slide show. 

 

LONG QUESTION 

 

Q1. What is meant by collecting contents? Explain with an example. 

Ans. Contents for presentation can be collected in the form of text, images, 

audio and video clips. Presenter can search books and internet for the best 

available material. Suppose a user wants to create a presentation on 

Quaid-e-Azam Muh. Ali Jinah. 

The user should collect the following material to make an attractive 

presentation: 

 Textual data (Birthday, a brief life history and quotes etc.) 

 Images of Quaid-e- Azam. 

 Sound clips from his speeches. 

 Video clips of Quaid-e-Azam.  
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Q2. Write the types of the templates. 

Ans. A template is a file that contains predefined settings on which a user can 

base new presentations. Templates are easy to use. They also save much time 

in beautifying the slides. 

There are three types of templates: 

1. Installed templates 

2. My templates 

3. Office online templates 

1. Installed templates: 

These templates are provided with the PowerPoint. 

2. My templates: 

Templates that are user has created and saved. 

3. Office online templates: 

Templates that a user downloads from office website. 

 

Q3. What is multimedia? Explain its elements. 

Ans. Multimedia:  

Multimedia is a combination of all or some of the media elements. The 

elements of multimedia include text, graphics, audio/ video and animation. 

There are five elements of Multimedia: 

Graphics 

    Text      

Multimedia     Sound 

 

Video       Animation 
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1. Text: 

Text is a combination of letters and numbers that a user types with a 

keyboard. 

2. Graphics: 

Digital representation of non text information such as drawings, 

photographs, paintings and charts etc. are called graphics. 

3. Sound: 

A wave or vibration which can be heard by human ears is known as sound. 

For example: sound of a passing car, gun shot and applause ( clapping) etc. 

4. Animation: 

Animation is a technique used to create movement in objects. For example, 

cartoon programs and animated movies etc. 

5. Video: 

A series of pictures that are displayed one after another along with sound is 

known as video. A video clip is a short segment of a video for example, movie 

clips and documentary clips etc. 
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Unit # 5:  “Introduction to E-mail” 

 

Define the following. 

 

E-mail Account: 

Storage area or mail box supply by an e-mail service provider is called 

an e-mail account. 

E-Mail Address: 

A unique address of an e- mail account is called an e-mail address.  

An e- mail address consists of two parts  

1. User name or ID 

2. Domain.  

E-Mail Service provider: 

E- mail account can be obtained by registering ISPs ( Internet service 

provider) or e- mail service providers such as HOTMAIL, YAHOO and 

GMAIL etc. 

Sign in: 

Sign in means to open an E-mail ID by entering e-mail address and 

password. It enables a user to open his/her e-mails 

Sign Out: 

Sign out means to close an e- mail account. 

Trash/ Deleted folders: 

Deleted e-mails are stored in the Trash / Deleted folder. 

Sender: 
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Sender is a person who sends e-mails to others.  

Receiver:  

Receiver is a person who receives e-mails from others 

Attach: 

Attaching a file allows a user to include a file or photo within an e-mail. 

A user can attach word documents, photos, animations and other types of 
file with an e-mail. 

Remove: 

Removing a file allows a user to exclude a file or photo from an e-mail. 

 

Give answers. 

 

Q1. Write the names of different folders in an e- mail account. 

Ans. Inbox 

Junk 

Drafts 

Sent 

Deleted 

Manage folders 

Related places 

Today 

Contact list. 

Q2. What is an email address give its composition. 

Ans. A unique address of an e- mail account is called an e-mail address.  

An e- mail address consists of two parts  

1. User name or ID 

2. Domain.  

For example:   name@hotmail.com 

 

The @ symbol separates the name 
of the person from the domain. 

Refers to the host computer where 
e-mail is stored 

User name or ID 
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All MCQs and fill in the blanks given at the end of the unit 3,4 and 5 are 

included. (answers are given on pg # 158) 

 

 

 

 

 

Dear students stay blessed & may Allah protects you all. 



Syllabus of Religion (Second Term)

 Class 7

6 





  1

  

 2 

  

  3






  

 4

  

 5

  

 6

  

 7

   

 8

  

 9

  

 10

  





 1



 2



 3



 4










 5





    

   

    

  

       2




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


    1 

     2

    3

    4

    5


    

       



 1



 2

 

 3


 4



 5













 2



 3



 4



 5




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



    1

   2

   3

   4

   5

  

  1

 

 2

  3

 4



 5

 44 



    1

    2

    3




     4

    5

   


 6

    7



   

    9

    10



 
 1



   2

  3

  4

  5


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




 1





 2


 3


 4




 5




    1

  2

   3

   4

   5

  6

   7

  8

  9 

  10





  1



 2



 3



 4 



 5










 















  1



 2



 3



 4 
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